Part I1I —Biology
Botany

Maximum Scores : 30 Time: 1Hours
Cool Off time : 10minutes

Answer any 3 question numbers 1 to 5.Each carry one score.
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1. Fill in the blank. [c)jl%emoq» @ od(b']qd']&ﬁﬁcﬁ:]

The innermost wall layer in young anther is ..............
QIBAMe O@®IEIGlERM @RMClOM ol O8sla)ss AU EaIDE.......... @6,

2. Select the first restriction enzyme from the following.
a. Eco R1 b. Hind 11 cpvul d.sall
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@O GER .

a. Eco R1 b. Hind 11 c.pvul d.sal 1

3. Observe the relationship between the first two terms and filling in the blank.
No. of births during a given period in a population: Natality
No. of deaths during a given period in a population: ?
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03 cmo%celrﬂmﬂ(o?s adluailo cvaoolmsslod Bmlaesom ga‘lcﬂ]a:gs)s af)6o : agoalld]

B303 cmo(}dcemsuaﬂm'a aluaio cvnoosingslc adlesm galeses agepe

@HOUB (MGURAHUEMOBTIAE'S BOBUOMES QUREBSOS O@alMOBle mlesslom
______________ af)(m’ aloQaw.

5. Based on the source of their nutrition or food, organism occupies a specific place in the
food chain. Name the term.
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11.
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Answer any 9 from question numbers 6 to 16. Each carries two scores.
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Pollen grain has a prominent two— layered wall

a. Name the two layers
b. Pollen grains are well —preserved as fossils. Give reason.
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Flowering plants have developed many devices to discourage self pollination. List any two
out breeding devices in plants.
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Differentiate exo nuclease and endo nuclease

af)e0 MVHIOWIYHS0 afBEUWI MEIOWMYHE. MmIR)Ss APMo @@laloElend

Genetically modified organisms (GMO) have been useful in many ways. Mention any two
of them.

ROIMS QUDPMe ABOBIQ =lalles gal altl MmECTIRISS @JEIRMEBRUY DME. @oaICTd
aBOO®Iej 66N (@aloGlead:.

A population has certain attributes that an individual organism does not.
a. Mention two population attributes
b. Explain a declaining population

a. GnJquGEIoSAOﬁ af)aM alBEBIEMR E6MTE MLIBOAI MANEUBHUDB:UB af) gD .
b. alleedgmies cnmcldcsemma )M QllUeEAIERH:.

a. Construct a food chain using the name of organism given below.
b. Mention the organisms that belong to primary consumer and tertiary consumer.

( Birds, man, phytoplankton, zooplankton)
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12. Match the following.

Examples Name of interaction
a. Resident fishes and visiting flamingos i. Mutualism
b. Cuckoo and crow ii. Competition
c. seed and sparrow iii. Commensalism
d. Ophrys orchid and bee iv. Predation

v. Parasitism
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13. a. Expand PCR
b. Mention the three steps of PCR
c. Name the enzyme used in PCR

a. PCR agyam@le® ojRen@aloag®d
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14. Modern bio technology involves three critical research areas. List any two of them.
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15. Biotechnology has many applications in the field of medicine. Gene therapy is one such
application.
a. Define Gene therapy
b. Expand ADA
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b. ADA agam sj@ @Galoom allemilaflesig@e
16. Bio technology has many applicants in the field of agriculture
a. Explain BT cotton
b. How dose the insecticidal protein Kkill the insect that attack Bt cotton ?
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a. Bt emogem ageaman alltecnossds
b. Bt e£056M CLAVIOED @RGAILRIN HISOBTIOM DAWOTVE] HOTVALE GJoZIB ag)eEREM@IETY
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. Answer any 3 from question numbers 17 to 20. Each carries three scores.
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17. Double fertilisation is a unique characteristic of angiosperms
a. Define double fertilisation.
b. Name the resulting cells formed through double fertilisation.
c. What is the future of PEN ?
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18. Cloning vectors are one of the tools of recombinant DNA technology
a. What are Cloning Vectors?
b. List the three essential features of cloning victor.
c. Name the two commonly used cloning victors
r— DNA avoemaile: allzy mldaiatlendiad a@Qaje @RMNAINIASE “aISH6EREIEd BmMae
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19. A population growing in a habitat with limited resources show logistic growth (Verhulst
Pearl Logistic Growth). | t is described by the following equation,

dN
==
|

K

a. What dor, N and K indicate?
b. Mention the various phases of logistic growth
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— = N [————
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20. Ecological pyramids are graphical pictures used to express the food relationship between
organisms at different trophic levels.

a. Name the three kinds of ecological pyramids
b. The pyramid of biomass in sea is generally inverted. Give reason.
c. State 10 % law ( 10 percent law)
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